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f(x) = exp(-x*x - 0.25 * x - 0.05 *x*x*x*x) * cos(2.1*x)
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f(x, y) = exp(-x*x - y*y - 3.5* c0os(0.25 * x + 2.2* y) - 0.05 *x*x*x*x - 0.05 *
y*y*y*y) * cos(2.1*x + 1.35 * y + 0.5 *y*y)

program main
use random

integer, parameter :: Nc = 900000000

double precision :: val, x, f

double precision, parameter :: Pi2 = sqrt(6.283185307179586d0)
integer :: i

val = 0.0
do i=1, Nc
X random_normal()

f = exp(-x*x - 0.25 * x - 0.05 *x*x*x*x) * cos(2.1*x)
f = f * Pi2 / exp(-0.5*x*x) // ¥, itE f/g
val = val + f

end do

val = val/Nc
write(*, *) "true value = 0.615081736130362, we find val = ", val

end program

RALER

Nc=900000000
true value = 1.740636625084, we find val = 1.7408722256046805

W% Nc = 9000000
true value = 0.615081736130362, we find val = 0.61479488769904633



! 3d integration
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program main
use random

integer, parameter :: Nc = 90000000

double precision :: val, x1, x2, x3, fi, f2, f3, f

double precision, parameter :: Pi2 = sqrt(6.283185307179586d0)
integer :: i

val = 0.0

do i=1, Nc
x1 random_normal()

x2 = random_normal()

x3 = random_normal()

fl = exp(-x1*x1 - 0.25 * x1 - 0.05 *x1*x1*x1*x1) * cos(2.1*x1) * Pi2 / exp(-
0.5*x1*x1)

f2 = exp(-x2*x2 - 0.25 * X2 - 0.05 *X2*x2*Xx2*x2) * cos(2.1*x2) * Pi2 / exp(-
0.5*x2*x2)

3 = exp(-x3*x3 - 0.25 * x3 - 0.05 *x3*x3*x3*x3) * co0s(2.1*x3) * Pi2 / exp(-
0.5*x3*x3)

f = f1*f2*f3

val = val + f
end do

val = val/Nc

write(*, *) "1d value 0.615081736130362, 3d value = 0.615**3 =
0.232701131270331"

write(*, *) "we find val = ", val

end program



